. Tvaun \Lt c\;i’n'\/\g

Which equation represents the transla‘uon

of fix) = 5x + 3 shifted down 4 units?
@ glx)=5x—4
glx) = 5x —1
© glx)=5x+4
® gx)=5x+7

Which equation represents the translation
x—1
of fl) = 3] + 1 shifted left 5 units?

Y‘\,J/\ \.)Y"\ﬂ/t 3

} Juww&

el

4 The graph of g is a translation of the graph
of f. Which equation could represent g?

® g =[5+ ® glx=fld+3
g(x):(%"75+1 glx) = flx) =3

Dt a © glx) =flx+3)
© Q(X):(g) +1 ©® g =flx—23)
© g(x):(%HS-H

The graph of g is a translation of the graph
of f. Which equation could represent g?

The graph of g is a translation of the graph
of f. Which equation could represent g?

® gl)=fx—4-5
g =flx+4) =5
© gbd=flx—4)+5
©® gx=fx+4)+5
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The graph of g is a translation of the graph of f. Which equations could represent g7 Select all
that apply.

y
\

A, g =f)+10 () D. gx) =flx—6)
() B. gk =fx)—-10 : (JE g)=flx+3)+5
(€. glx)=flx+8) (3 k gld=flx—3) =5

The graph of function g is a translation of

@ The graph of function g is a translation of

the graph of f(x) = %(x — 4) + 3 shifted the graph of f(x) = (}I)XH — 5 shifted right
left 6 units and down 3 units. 5 units and up 3 units.
PartA PartA
Graph g. Graph g.
Yy

PartB Part B
Write an eqguation for g. Write an equation for g.
glx) = glx) =
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The points {(—5, 0), (=3, 4), (0, 7), and (1, 9) are on the graph of f. The graph of g is the translation
of the graph of fshifted down 4 units and right 1 unit. Which points are on the graph of g7

Point On the graph of g Not on the graphofg
—5,1) . O
(—4, —4) O O
(=3, 8) @ O
(=2, 0) O &)
(1, 3) O O
(2,.5) O O

@ Let f(x) = 6" + 2. Write an equation of g for each translation of f described in the table.

Translation of f Equationofg

shift up 5 units

shift down 3 units
shift left 2 units
shift right 4 units

shift up 8 units and left 3 units

shift down 4 units and right 7 units

@ Let (3, —4) be a point on the graph of fand let g(x} = f(x — 3) + 5. What is a point on the graph of
g? Explain how you found your answer.
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Let f(x) = 4". Explain why the graphs of the functions glx) = ]Z -4 and g(x) =16 - 4" are
translations of the graph of f.

@ Let f(x) = %x.
Part A
How does the graph of f compare to the graph of glx) =flx—4) + 27

PartB
What must be true for the graph of glx) = f(x + a) + btobe the same as the graph of f? Explain

how you know.
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o Which graph shows the reflection of the e Which graph shows the reflection of the
graph of f(x) = ]gx — 4 across the y-axis? graph of f(x) = —[%)H * + dacross the
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e The linear function fis graphed on the o The exponential function fis graphed on

coordinate plane. Let the graph of g be the coordinate plane. Let the graph of g be
the reflection of the graph of facross the the reflection of the graph of facross the
x-axis. Which equation could represent g7 y-axis. Which equation could represent g7

® gi=—dx+4 ® ghy=4"-4

5 g =4"+4
glx) = —3x— 4 © g =-4"—4
© Q(X):%x+4 ® gx=-4"+4
® gix=3x—4

e The points (—3, —2]5), (=1, =1),(0,1),and (2, 13) are on the graph of f. Which points are on
the graph of the reflection of the graph facross the s-axis and which points are on the graph of
the reflection of the graph facross the y-axis?

Point Across the x-axis Across the y-axis Neither

~3,23) ® ® \ O

(-2, -13) 0 O | O

| (—2,13) o i o o

0, 1) O O O

0.1) 0 o =
3 0, - O o o

0. O Jf O 0O

2, -13) s | O 0
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e The graph of function g is a reflection of
the graph of f(x) = (—)x_ — 3 across the
y-axis. :
PartA

Graph g.

PartB

Write an equation for g.

9 The graph of function g is a reflection of
the graph of f{x) =

y-axis.

%X + 4 across the

PartA
Graph g.

PartB

Write an equation for g.

The graph of function g is a reflection of
the graph of f(x) = 3"~ ? — 4 across the
x-axis.

PartA
Graph g.

PartB

Write an equation for g.

The graph of function g is a reflection of
the graph of f(x) = %x — 5 across the
X-axis.

PartA

Graph g.

PartB

Write an equation for g.

glx) =
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Let f(x) = (%]x Explain why the graph of the function glx) = 4"is the reflection of the graph of f
across the y-axis.

0 The graph of function g is a reflection of the graph of flx) = ~(1§)H] + 3 across the x-axis and

across the y-axis.

PartA
Graph.g.

PartB

Write an equation for g.
glx) =
PartC

If a point (@, b) is on the graph of f, what point is on the graph of g? Explain how you found
your answer.
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o Which equation represents the vertical

shrink of flx) = 4x + 1 by a factor of%?

® glx)=2x+1
g =2x+3%
© gl =4x+?2
® glx)=4x+1

Which equation represents the vertical
stretch of f(x) = 3x + 6 by a factor of 37

glx)=9x+6
glx) =9x + 18
©® gx=x+2
® glxx=x+6

Which equation represents the vertical
stretch of f(x) = 3" + 2 by a factor of 27

© 0 ® ®
=

XX x
I

gb)=4-[3] 16
© g=[3f -4
® oW =(3"—4

S‘fvﬁ*(’dﬂq\ma\ /Shaddg e chong
"€ The graph of g is a shrink or stretch of
the graph of f. Which equation could

represent g?

@ @
(e}
=
I
Dl—
o
x

©@ ©
28

3

I
e

|_|
.

The graph of g is a shrink or stretch of
the graph of f. Which equation could
represent g7

@ ®

©@ ©




o The graph of function g is a vertical shrink e The graph of function g is a vertical shrink

of the graph of f(x) = (%)Hz —6bya of the graph of f(x) = 2x — 5 by a factor
2 .

factor of % of 5.

Part A Part A

Graph g. Graph g.

EEENENL

l e PartB PartB
I e Write an equation for g. Write an equation for g.
glx) = : glx) =

e The points (=6, 2), (=3, 4), (0, 6), (3, 4), and (9, O) are on the graph of f. The graph of g is the
vertical shrink of the graph of f by a factor of%. The graph of his the vertical stretch of the graph of

fby a factor of 2. Identify which points are on the graph of g or h.

Point On the graph of g On the graph of h Neither
il (-12,2) @) O O
i (~6,4) 0 O O
I (-3,2) O O 0o
| 0. 6) o o o
(3, 2) 0 O O
(3, 8) Ne O O
6, 4) O O O
9, 0) O O O
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PartA Part B

]

Graph g(x) = 2 f(x). 2 Graph h(x) = Ef(x).

PartC
How does ‘{_he slope of the graph of g compare to the slope of the graph of h?

PartD
In general, if fis a linear function, how would the slope of the graph of g{x) = k f(x} compare to
the slope of the graph of h(x) = %f(x)? If the slope of fis m, what are the slopes of g and h? Explain

how you got your answers.
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